ml O
é—&

y=x"-2(k=-3)x+4° 2HZI} xZ A2 T E F
g off, A k0] gl MeE?

_|_, U?l',
2

@ k<1 @ 1<k<3

®k<3 @3<k<5

® k<1EEk>5



= =-x?+kx Ay =x+1 0] AZ G2 F HAA
7] 5tk o M=

D k>2, k<-1 @ k>3, k<-1 @ k>1, k<-1

@ k>3, k<=2 ® k>3, k<-3



ojatt y = ¥? +ax+2a & T E= x FF A A, B oA Tl

B=2<4d o, RE A5 a9 3] g okeiet

e =
c



o)A y = f(x) O 27} b 1)
28 a WA 12 1) =0 9] Az e
A7) g9

@ 174 @ 274 @ 37
@ 47 ® 570

NG




=—x2+2x 5ol FAlol Hshe
Aol F& Fafolat

2] A

H

DR



6. xAYHA|x-1]+]x-3|=a’t MR HE F /9] e 71
o, A4 a o ghe] Hee?

D a<1 @ a>1 ® a<?2 @ a>2 ® a<3



@ k>4

B 0<k<4

® 3<k<4



@1

@ 0

B 3

@ 2



T f(x) = x°—2x% +ax+b O] I Z} g(x) = 3x -4 ] I 7}
A2 T2 A A (r1y). (v2.92). (v0ys) VA Weh ik, o] o)
yi+ya +yz & fh27

@D -6 @ -5 B —4 @ -3 ® -2



10.

the 2197} 2ol y = x2—6x+10 9] 17} AA y = qx 9} T}

= wgo] x FEA} 22 1, o o] A4 y = bx 9} T}

XA A2, 4 A, G+ 2 ol B P,

y=13+6x+10
y=ax

y=bzx

01p

1
1
1
1
1
1
1
1
1
:
a T

=~--=-=-

1 =
=5 4y

C

_q]

r



